
 WE990−1, Change of PDT (LMS) in volour vision; Adaptation

λd/nm λc/nm

Adaptation: λRG=525
Adaptation: λBJ=525ts=0.007

log [PaDaTaUaNaWa]
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo + 0.16
logDa= logDo − 0.09
logTa= logTo + 1.13
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 WE990−2, Change of PDT (LMS) in volour vision; Adaptation

λd/nm λc/nm

Adaptation: λRG=525
Adaptation: λBJ=525

Threshold: ts=0.007

log[PaDaTaUaNaWa]−logWa
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo + 0.16
logDa= logDo − 0.09
logTa= logTo + 1.13
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 WE990−3, Change of PDT (LMS) in volour vision; Adaptation

λd/nm λc/nm

Adaptation: λRG=575
Adaptation: λBJ=575ts=0.007

log [PaDaTaUaNaWa]
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo − 0.05
logDa= logDo + 0.12
logTa= logTo − 0.13
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 WE990−4, Change of PDT (LMS) in volour vision; Adaptation

λd/nm λc/nm

Adaptation: λRG=575
Adaptation: λBJ=575

Threshold: ts=0.007

log[PaDaTaUaNaWa]−logWa
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo − 0.05
logDa= logDo + 0.12
logTa= logTo − 0.13
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 WE990−5, Change of PDT (LMS) in volour vision; Adaptation

λd/nm λc/nm

Adaptation: λRG=475
Adaptation: λBJ=475ts=0.007

log [PaDaTaUaNaWa]
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo − 0.89
logDa= logDo − 0.72
logTa= logTo − 0.13
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 WE990−6, Change of PDT (LMS) in volour vision; Adaptation

λd/nm λc/nm

Adaptation: λRG=475
Adaptation: λBJ=475

Threshold: ts=0.007

log[PaDaTaUaNaWa]−logWa
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo − 0.89
logDa= logDo − 0.72
logTa= logTo − 0.13
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 WE990−7, Change of PDT (LMS) in volour vision; Adaptation

λd/nm λc/nm

Adaptation: λRG=600
Adaptation: λBJ=600ts=0.007

log [PaDaTaUaNaWa]
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo − 0.16
logDa= logDo + 0.22
logTa= logTo − 0.76
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 WE990−8, Change of PDT (LMS) in volour vision; Adaptation

λd/nm λc/nm

Adaptation: λRG=600
Adaptation: λBJ=600

Threshold: ts=0.007

log[PaDaTaUaNaWa]−logWa
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo − 0.16
logDa= logDo + 0.22
logTa= logTo − 0.76
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 WE991−1, Change of PDT (LMS) in volour vision; Adaptation

λd/nm λc/nm

Adaptation: λRG=525
Adaptation: λBJ=525ts=0.007

log[PaDaTaUaNaWa]−logWa
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo + 0.16
logDa= logDo − 0.09
logTa= logTo + 1.13
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 WE991−2, Change of PDT (LMS) in volour vision; Adaptation

Adaptation: λRG=525
Adaptation: λBJ=525

Threshold: ts=0.007

log[PaDaTaUaNaWa]−logWa
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo + 0.16
logDa= logDo − 0.09
logTa= logTo + 1.13
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 WE991−3, Change of PDT (LMS) in volour vision; Adaptation

λd/nm λc/nm

Adaptation: λRG=575
Adaptation: λBJ=575ts=0.007

log[PaDaTaUaNaWa]−logWa
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo − 0.05
logDa= logDo + 0.12
logTa= logTo − 0.13
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 WE991−4, Change of PDT (LMS) in volour vision; Adaptation

Adaptation: λRG=575
Adaptation: λBJ=575

Threshold: ts=0.007

log[PaDaTaUaNaWa]−logWa
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo − 0.05
logDa= logDo + 0.12
logTa= logTo − 0.13
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 WE991−5, Change of PDT (LMS) in volour vision; Adaptation

λd/nm λc/nm

Adaptation: λRG=475
Adaptation: λBJ=475ts=0.007

log[PaDaTaUaNaWa]−logWa
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo − 0.89
logDa= logDo − 0.72
logTa= logTo − 0.13
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 WE991−6, Change of PDT (LMS) in volour vision; Adaptation

Adaptation: λRG=475
Adaptation: λBJ=475

Threshold: ts=0.007

log[PaDaTaUaNaWa]−logWa
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo − 0.89
logDa= logDo − 0.72
logTa= logTo − 0.13
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 WE991−7, Change of PDT (LMS) in volour vision; Adaptation

λd/nm λc/nm

Adaptation: λRG=600
Adaptation: λBJ=600ts=0.007

log[PaDaTaUaNaWa]−logWa
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo − 0.16
logDa= logDo + 0.22
logTa= logTo − 0.76
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 WE991−8, Change of PDT (LMS) in volour vision; Adaptation

Adaptation: λRG=600
Adaptation: λBJ=600

Threshold: ts=0.007

log[PaDaTaUaNaWa]−logWa
logNa = 0,5 [logTa+logUa]
logWa = 0,5 [logNa+logUa]

logPa= logPo − 0.16
logDa= logDo + 0.22
logTa= logTo − 0.76
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Logarithmic cone sensitivity and ratios or differences
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